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CÎma àXoe AYrZñW godm M`Z Am`moJ, bIZD$ 
{dkmnZ g§»`m-01-narjm/2025 

 àmapå^H$ Ah©Vm narjm (PET)-2025   
CÎma H§w$Or (_mñQ>a goQ>) 

narjm {V{W : 07-09-2025  nmbr : {ÛVr` 

 

1. ‘A{^ZoVm’ nwq„J eãX h¡, CgH$m ñÌrqbJ ê$n _____ h¡ & 

A{^ZoÌr 

2. ‘B§Q>aZoQ> H«$m§{V’ {Z~§Y _| B§Q>aZoQ> Ho$ ~mao _| MMm© H$s h¡, B§Q>aZoQ> H$m AW© ________ h¡ & 

A§VOm©b 

3. ‘Omo AZwH$aU H$aZo `mo½` hmo ’ Cgo _____ H$hVo h¢ & 

AZwH$aUr` 

4. ‘ZmM’ VX²^d eãX h¡, CgH$m VËg_ eãX _____ h¡ & 
Z¥Ë` 

5. ‘A{dîH$ma’ EH$ AewÕ eãX h¡, {ZåZ{b{IV eãXm| _| go ghr eãX H$m M`Z H$s{OE & 

 Am{dîH$ma 

 
{ZX}e (à. g§. 6 go à. g§. 10) : {ZåZ{b{IV JÚm§e H$mo n‹T>H$a  

nyN>o JE àíZm| Ho$ CÎma Xr{OE & 

qhXr gm{hË` _| J«m_m§M{bH$Vm H$s àd¥{Îm ñdmV§Í`moÎma H$mb _| nZn CR>r h¡ & _hmË_m Jm±YrOr Ho$ ‘XohmV H$s Amoa 

Mbmo’ Bg Zmao Ho$ AZwH$aU na J«m_m§M{bH$ gm{hË` H$m Am§XmobZ ewê$ hþAm & J«m_rU bmoJm| H$m à~moYZ H$aHo$ CZ_| 

MoVZm OJmZo H$m H$m_ J«m_m§M{bH$ boIH$m| Zo {H$`m h¡ & dhm± Ho$ OZ-OrdZ H$s g_ñ`mAm| H$mo bmoJm| Ho$ gm_Zo 

aIZo H$m CÔoí` J«m_m§M{bH$ gm{hË`H$mam| _| ahm h¡ & 

J«m_m§M{bH$ gm{hË` H$m àma§^ gZ² 1950 Ho$ níMmV² A{YH$ J{V go ewê$ hþAm & J«m_rU OrdZ H$mo ghr AW© _| 

_wI[aV H$aZo H$m g\$b à`mg ào_M§X Zo {H$`m & AnZr  H$hm{Z`m| Am¡a CnÝ`mgm| Ho$ _mÜ`_ go BÝhm|Zo J«m_rU OrdZ 

H$m __©ñneu {MÌU {H$`m h¡ & ào_M§X Ho$ nyd© H$mb _| goR> ~m±Ho$_b Ho$ ‘KamD$ KQ>Zm’-1883,‘dg§V _mbVr’-

1899, ‘AY{Ibm \y$b’-1907, ‘^moOnwar H$s R>Jr’-1912, ‘amYmH$m§V’ Am¡a ‘AaÊ`H$’-1915, _ÞZ X²{ddoXr Ûmam 

{b{IV ‘am_bmb’-1914, {ednyOZ ghm` X²dmam {b{IV ‘XohmVr Xþ{Z`m’-1925 Am{X CnÝ`mgm| _| àma§{^H$ ñVa na 

J«m_m§M{bH$Vm Ho$ Xe©Z hmoVo h¢ & 
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ào_M§X Ho$ ‘a§J^y{_’, ‘JmoXmZ’, ‘ào_ml_’ Am{X CnÝ`mgm| _| J«m_rU OrdZ, nr{‹S>V J«m_rUm| _| C^aZo dmbr MoVZm Ho$ 

Xe©Z hmoVo h¢ & BZHo$ CnÝ`mgm| _| ZB© gm_m{OH$, Am{W©H$ ì`dñWm Am¡a na§namJV J«m_ ì`dñWm Ho$ g§H«$_U H$mbrZ 

g§X^© ñnîQ> ê$n go C^aH$a gm_Zo AmE h¢ & O`e§H$a àgmX Ho$ ‘{VVbr’ _| J«m_ OrdZ H$s àd¥{Îm`m| H$s Amoa Bemam 

{H$`m h¡ & BgHo$ ~mX CX`e§H$a ^Q²>Q>, A_¥Vbmb ZmJa, am§Jo` amKd, Xod|Ð gË`mWu Am{X Bgr brH$ na MbVo aho, 

{OÝhm|Zo J«m_m§M{bH$Vm H$s _Ü` pñW{V H$mo AnZm`m & 

qhXr gm{hË` _| Am±M{bH$Vm Ho$ CÞm`H$ CnÝ`mgH$ma \$UrídaZmW ‘aoUw’ aho h¢ & CZHo$ Ûmam {bIm J`m nhbm 

Am±M{bH$ CnÝ`mg ‘_¡bm Am±Mb’-1954, qhXr H$m ewX²Y Am±M{bH$ CnÝ`mg _mZm OmVm h¡ & BgHo$ ~mX 

Am±M{bH$Vm A{YH$ _mÌm _| nZnVr JB© & Am±M{bH  gm{hË` {d{dY ê$nm| _| g_¥X²Y hmoVm J`m & BgH$m lo` e¡boe 

_{Q>`mZr, am§Jo` amKd, am_Xae {_l, amhr _mgy_ aOm, {h_m§ew Omoer, ^¡adàgmX Jwá, OJX§~màgmX, OJXre Jwá, 

A_¥Vbmb ZmJa, í`m_ na_ma, {ed àgmX qgh, {ddoH$s am` Am{X H$mo {X`m Om gH$Vm h¡ & gZ² 1960 Ho$ níMmV² 

J«m_m§M{bH Ymam A{YH$ ~bdVr ~Zr & Bg_| H${dVm, H$hmZr, CnÝ`mg, {Z~§Y, [anmoVm©O, aoIm{MÌ Am{X H$mo 

`WmdV ñWmZ àmá hþAm & 

6. {H$gZo ‘XohmV H$s Amoa Mbmo ’ Bg Zmao Ho$ AZwH$aU na J«m_m§M{bH$ gm{hË` H$m Am§XmobZ ewê$ {H$`m ? 
_hmË_m Jm±Yr 

7. J«m_m§M{bH$ gm{hË` H$m àma§̂  gZ² _______ Ho$ níMmV² A{YH$ J{V go ewê$ hþAm & 
1950 

8. {ednyOZ ghm` Ûmam {b{IV _______ 1925 Am{X CnÝ`mgm| _| àma§{^H$ ñVa na J«m_m§M{bH$Vm Ho$ Xe©Z hmoVo h¢ &  
XohmVr Xw{Z`m 

9. {H$g CnÝ`mgH$ma Ho$ à_wI CnÝ`mg ‘a§J ŷ{_’ , ‘JmoXmZ’ , ‘ào_ml_’ Am{X CnÝ`mgm| _| J«m_rU OrdZ, nr{‹S>V J«m_rUm| _| C^aZo 
dmbr MoVZm Ho$ Xe©Z hmoVo h¢ ? 
ào_M§X 

10. {H$g CnÝ`mgH$ma Ûmam {bIm J`m nhbm Am±M{bH$ CnÝ`mg ‘_¡bm Am±Mb’ - 1954, {hÝXr H$m ewÕ Am±M{bH$ CnÝ`mg 
_mZm OmVm h¡ ? 

\$UrídaZmW ‘aoUw’  
 

 {ZX}e (à. g§. 11 go à. g§. 15) : {ZåZ{b{IV JÚm§e H$mo n‹T>H$a nyN>o JE àíZm| Ho$ CÎma Xr{OE & 

AmO {h§Xr ^mfm {Og ê$n _| ~mobr Am¡a g_Pr OmVr h¡ dh I‹S>r ~mobr H$m hr gm{hpË`H$ ^mfm ê$n h¡, {OgH$m 

{dH$mg _w»`V: CÝZrgdt eVmãXr _| hþAm & I‹S>r ~mobr H$m àmMrZ ê$n Xgdt eVmãXr go {_bVm h¡ {H$ÝVw Mm¡Xhdt 

eVmãXr Ho$ àma§̂  _| A_ra Iwgamo Zo nhbr ~ma I‹S>r ~mobr _| H${dVm H$s aMZm H$s & _Ü`H$mb VH$ I‹S>r ~mobr 

_w»`V: ~mobMmb H$s ^mfm Ho$ ê$n _| hr àM{bV Wr & Cg `wJ _| ~«O^mfm Am¡a AdYr H$mì` H$s ^mfm Wr & 

~«O^mfm H$mo gyaXmg Zo, AdYr H$mo VwbgrXmg Zo Am¡a _¡{Wbr H$mo {dÚmn{V Zo {g§{MV Am¡a nëb{dV {H$`m & Cg 

g_` \$magr amOXa~ma _| amOH$mO H$s ^mfm hþAm H$aVr Wr & AV: BÝht H$maUm| go I‹S>r ~mobr Cno{jV-gr ahr, 

bo{H$Z g_ñV CÎma ^maV _| OZg§nH©$ H$s `hr EH$_mÌ geŠV ^mfm Wr & 
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19 dt Am¡a 20 dt eVmãXr _| O~ kmZ-{dkmZ H$m àgma hþAm Vmo I‹S>r ~mobr ghO ê$n go gd©J«mø ^mfm Ho$ ê$n 

_| VWm OZg§nH©$ H$s ^mfm Ho$ ê$n _| C^a H$a gm_Zo AmB© Š`m|{H$ `hr g~go A{YH$ ì`mnH$ Wr & 

g§gma _| A§J«oOr d MrZr ^mfm Ho$ ~mX {h§Xr ~mobZo dmbm| H$s g§»`m gdm©{YH$ h¡ & _wÐU Ho$ Am{dîH$ma, ^maV _| 

A§J«oOr JÚ gm{hË` Ho$ àgma, amOZr{VH$ OmJê$H$Vm Ho$ CX²^d, nÌ-n{ÌH$mAm| Ho$ àH$meZ, OZgmYmaU VH$ 

nhþ±MZo H$s Amdí`H$Vm Am{X H$maUm| Zo I‹S>r ~mobr go {dH${gV {h§Xr H$mo gånyU© ^maV H$s gdm©{YH$ à`moJ H$s OmZo 

dmbr OZgånH©$ H$s ^mfm Ho$ ê$n _| ñWm{nV H$a {X`m & Bgr Ad{Y _| ^maVoÝXw h[aíM§Ð _hmdra àgmX {ÛdoXr Am¡a 

ào_MÝX Am{X Zo {h§Xr JÚ H$mo {ZImaZo d n[aîH¥$V H$aZo _| `moJXmZ {X`m & OZ g_wXm`m| H$mo g§~mo{YV H$aZo Ho$ {bE 

Jm±Yr, {VbH$, X`mZÝX gañdVr Am{X amOZ¡{VH$ Am¡a Ym{_©H$ ZoVmAm| Zo {h§Xr H$m à`moJ {H$`m & 

gZ² 1949 B©. _| g§{dYmZ _| Xoe H$s amO^mfm Ho$ ê$n _| ñdrH¥$V hmoZo Ho$ níMmV² BgZo A~ EH$ amîQ´>r` VWm 

AÝVam©îQ´>r` ñWmZ àmßV H$a {b`m h¡ & Xoe Ho$ A{YH$Va amÁ`m| _| emgZ Am¡a {ejm H$s ^mfm {h§Xr h¡ & n§Om~, 

JwOamV Am¡a _hmamîQ´> Zo Bgo {ÛVr` ^mfm Ho$ ê$n _| _mÝ`Vm Xr h¡ &  

11. _w»`V: I‹S>r ~mobr H$m {dH$mg {H$g eVmãXr _| hþAm ?  

CÞrgdt 

12. {H$g H${d Zo Mm¡Xhdt eVmãXr Ho$ àma§̂  _| I‹S>r ~mobr _| H${dVm H$s aMZm H$s ?  
A_ra Iwgamo 

13. ~«O^mfm H$mo gyaXmg Or Zo, AdYr H$mo VwbgrXmg Or Zo Am¡a _¡{Wbr H$mo {H$gZo {g§{MV Am¡a nëb{dV {H$`m ? 

{dÚmn{V 

14. g§gma _| A§J«oOr d _________ ^mfm Ho$ ~mX {hÝXr ~mobZo dmbm| H$s g§»`m gdm©{YH$ h¡ & 
MrZr 

15. gZ² _________ B©. _| g§{dYmZ _| Xoe H$s amO^mfm Ho$ ê$n _| ñdrH¥$V hmoZo Ho$ níMmV² BgZo A~ EH$ amîQ́>r` VWm 
A§Vam©îQ́>r` ñWmZ àmßV H$a {b`m h¡ & 
1949 

16. O¡Z Ym{_©H$ na§nam _| {H$VZo VrWªH$a h¡§ ? 

24   

How many Tirthankaras are there in the Jain religious tradition ? 

24 

17. ‘Cn{ZfX’ eãX H$m empãXH$ AW© Š`m h¡ ? 

{H$gr Ho$ nmg ~¡R>Zm  

What is the literal meaning of the word ‘Upanishad’ ?   

To sit near someone  
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18. qgYw KmQ>r gä`Vm H$s “Z¥Ë` H$aZo dmbr b‹S>H$s” Ho$ ê$n _| à{gÕ à{V_m {H$g ñWb na ImoOr JB© Wr ? 
 _moh|OmoX‹S>mo   

The famous statue known as the “Dancing Girl” of the Indus Valley Civilization was discovered 

at which site ? 

Mohenjodaro 

19. ~m¡Õ Y_© _| ‘{V{nQ>H$ ’ `m ‘{Ì{nQ>H $’ eãX H$m AW© Š`m h¡ ? 
VrZ Q>moH$[a`m±/g§J«h, {OZ_| ~m¡Õ {ejmE± h¢   

What does the term Tipitaka or Tripitaka refer to in Buddhism ? 

Three baskets/collections, contains Buddhist teachings 

20. éÐXm_Z Ho$ {JaZma {ebmboI _| d{U©V gwXe©Z Prb Ho$ {Z_m©U H$m lo` {H$g _m¡`© A{YH$mar H$mo {X`m OmVm h¡ ? 
nwî`JwßV  

Which Mauryan official is credited with constructing the Sudarshan Lake as mentioned in the 

Girnar Rock Inscription of Rudradaman ? 

Pushyagupta 

21. ^maV _| A§{V_ {~«{Q>e dm`gam` H$m¡Z Wm ?  
bm°S>© _mC§Q>~oQ>Z    

The last British Viceroy in India was  

Lord Mountbatten 

22. b§XZ _| ^maVr` hmo_ ê$b gmogmBQ>r H$s ñWmnZm {H$gHo$ Ûmam H$s JB© Wr ? 
í`m_Or H¥$îUm d_m© 

Indian Home Rule Society in London was founded by    

Shyamji Krishna Varma 

23. ‘amOmOr’ Ho$ Zm_ go H$m¡Z OmZm OmVm Wm ? 
gr. amOJmonmbmMmar 

Who was known as ‘Rajaji’ ? 

C. Rajagopalachari  

24. qhXþñVmZ [anpãbH$Z Egmo{gEeZ H$s ñWmnZm {H$g df© hþB© Wr ? 
1924  

Hindusthan Republican Association was founded in the year 

1924 

25. ñdV§Ì ^maV Ho$ nhbo amîQ´>n{V H$m¡Z Wo ? 
S>m°. amO|Ð àgmX 

The first President of the Independent India was  

Dr. Rajendra Prasad   
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26. EH$ g§Kr` amÁ` H$s g~go AÀN>r {deofVmE± h¢  

H|$Ðr` Am¡a ñWmZr` gaH$mam| Ho$ ~rM epŠV H$m ~±Q>dmam 

A Federal State is best characterized by 

Power shared between central and local governments 

27. ^maV H$s g~go b§~r ZXr H$m¡Z-gr h¡ ? 

J§Jm  

Which is the longest river in India ? 

Ganga 

28. ^yOb nwZ^©aU H$m _w»` òmoV Š`m h¡ ? 

dfm© Ob H$m A§V:ñ`§XZ 

What is the main source of groundwater recharge ? 

Rainwater infiltration 

29. n¥Ïdr na g~go ewîH$ ñWmZ H$m¡Z-gm ao{JñVmZ _mZm OmVm h¡ ? 

AQ>mH$m_m 

Which desert is considered the driest place on Earth ? 

Atacama 

30. gw§Xa~Z {H$g àH$ma Ho$ dZm| Ho$ {bE à{gÕ h¡ ? 

_¢J«mod 

Sundarbans are famous for which type of forests ?    

Mangrove 

31. GATT H$m VmËn ©̀ _____________ go h¡ & 
OZab A{J«_|Q> Am°Z Q>¡[aâg EÊS> Q´>oS> 

GATT stands for 

General Agreement on Tariffs and Trade 

32. Zm¡dt n§Mdfu` `moOZm ________ na H|${ÐV Wr & 

gm_m{OH$ Ý`m` Am¡a g_mZVm Ho$ gmW {dH$mg 

Ninth Five Year Plan focused on 

Growth with social justice and equality 

33. nhbr n§Mdfu` `moOZm (1951-56) Ho$ g_` ^maV VrZ g_ñ`mAm| H$m gm_Zm H$a ahm Wm & do Wt 
eaUm{W©`m| H$s Am_X, ^moOZ H$s J§^ra H$_r Am¡a ~‹T>Vr _wÐmñ\$s{V 

At the time of the First Five Year Plan (1951-56) India was faced with three problems.  

They were 

Influx of refugees, severe food shortage and mounting inflation  
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34. OZg§»`m KZËd Š`m h¡ ? 
à{V dJ© {H$_r ^y{_ joÌ _| ì`pŠV`m| H$s g§»`m H$m AZwnmV  

What is  density of population ? 

A ratio of the number of persons per sq. km of land area   

35. ^maV _| _OXÿar amoOJma H$m`©H«$_ H$mo Am¡a Š`m H$hm OmVm h¡ ? 
gånyU© J«m_rU amoOJma `moOZm  

Wage Employment Programme in India is also known as  

Sampoorna Grameen Rozgar Yojana 

36. _______ [aQ> V~ Omar H$s OmVr h¡ O~ Ý`m`mb` nmVm h¡ {H$ H$moB© {deof nXYmar H$mZyZr H$V©ì` Zht {Z^m ahm h¡ 
Am¡a Bg Vah {H$gr ì`pŠV Ho$ A{YH$ma H$m Cëb§KZ H$a ahm h¡ & 
na_mXoe 

________ writ is issued when the court finds that a particular office holder is not doing legal 

duty and thereby is infringing on the right of an individual. 

Mandamus 

37. _____ ^maV Ho$ _yb g§{dYmZ H$m {hñgm Zht Wo, ~pëH$ gaXma ñdU© qgh g{_{V H$s {g\$m[ae na 1976 _o§ 42 d| 
g§emoYZ A{Y{Z`_ Ûmam Omo‹S>o JE Wo & 
_m¡{bH$ H$V©ì` 

__________ were not the part of original Constitution of India instead added in 1976 by  

42nd Amendment Act on the recommendation of Sardar Swaran Singh Committee.   

Fundamental Duties 

38. ^maV Ho$ g§{dYmZ H$s ewéAmV _______ go hmoVr h¡ & 
àñVmdZm 

Indian Constitution starts with 

Preamble 

39. ‘amÁ`’ H$s n[a^mfm ^maVr` g§{dYmZ _| ______ Ho$ A§VJ©V Xr JB© h¡ & 
AZwÀN>oX 12 

The definition of ‘State’ is provided under _________ of the Indian Constitution. 

Article 12 

40. __________  g§gX gXñ`m| Ho$ ~rM AmMma g§{hVm bmJy H$aVm h¡ & 

AmMma g{_{V 

__________ enforces the code of conduct among members of Parliament. 

Ethics Committee 
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41. EH$ {dÚwV BñÌr _| 500 Amo_ Ho$ à{VamoY na 250 dmoëQ> H$m {d^dmÝVa bJm`m OmVm h¡ & 10 goH§$S> _| Oyb _| 
CËnm{XV D$î_m D$Om© H$s JUZm H$a| & 
1250  

A potential difference of 250 volts is applied across a resistance of 500 ohms in an electric 

iron. Calculate heat energy produced in joules in 10 seconds.  

1250 

42. àH$me H$mo CgHo$ KQ>H$ a§Jm| _| {d^m{OV H$aZo H$mo Š`m H$hVo h¢ ?  
\¡$bmd 

The splitting of light into its component colours is called  

Dispersion 

43. ~wPm hþAm MyZm ~ZmZo Ho$ {bE A~wPo MyZo Am¡a nmZr Ho$ ~rM H$s amgm`{ZH$ à{V{H«$`m H$s {deofVm h¡ 

Vmn_mZ _| d¥{Õ 

The chemical reaction between quicklime and water to form slaked lime is characterized by 

A rise in temperature 

44. {ZåZ{b{IV _| go H$m¡Z-go gm_mÝ` I{ZO Aåb H$m CëboI {H$`m J`m h¡ Omo AnZo gm§{ÐV ê$n _| ~hþV g§jmaH$ hmoVo 
h¢ ? 

gëâ`y[aH$ E{gS>, hmBS´>moŠbmo[aH$ E{gS>, ZmB{Q´>H$ E{gS>  

Which of the following are mentioned as common mineral acid that are very corrosive in their 

concentrated form ? 

Sulphuric acid, hydrochloric acid, nitric acid 

45. _mZd Am±I _| àdoe H$aZo dmbo àH$me H$s _mÌm H$mo {Z`§{ÌV H$aVm h¡ 

ß`y{nb  

The amount of light entering the human eye is controlled by 

Pupil 

46. Xe_bd 0.12 H$m à{VeV ê$n Š`m h¡ ? 
12%  
The percentage form of the decimal 0.12 is 

12% 

47. 437 Am¡a 487 Ho$ ~rM nyU© g§»`mAm| H$s g§»`m Š`m h¡ ? 

49   

The number of whole numbers between 437 and 487 is 

49 
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48. 2 g§»`mAm| H$m LCM Am¡a HCF H«$_e… 120 Am¡a 6 h¡ & `{X CZ_| go EH$ g§»`m 30 h¡, Vmo AÝ` g§»`mE± kmV 
H$s{OE & 
24   

The LCM and HCF of 2 numbers are 120 and 6 respectively. If one of the number is 30, find 

the other. 

24 

49. EH$ Am`V H$s n[a{Y 13 go_r h¡ Am¡a BgH$s Mm¡‹S>mB© 3
2

4
 go_r h¡, BgH$s b§~mB© {H$VZr h¡ ? 

 
3

3
4

go_r  

The perimeter of a rectangle is 13 cm and its width is 
3

2
4

 cm. Its length is 

 
3

3
4

 cm 

50. `{X 12 = 1, 112 = 121, Vmo 1112 = ? 

12321  

If 12 = 1, 112 = 121, then 1112 = ? 

12321 

51. EH$ AmX_r H$s Amoa Bemam H$aVo hþE, EH$ _{hbm Zo H$hm “CgH$s _m± _oar _m± H$s BH$bm¡Vr ~oQ>r h¡” & _{hbm Cg 
AmX_r go {H$g Vah g§~§{YV h¡ ? 

_m±  

Pointing to a man, a lady said “His mother is the only daughter of my mother”. How is the lady 

related to the man ? 

Mother 

52. 7:10 ~Oo K‹S>r H$s gwB`m| Ho$ ~rM H$m H$moU Š`m hmoJm ? 

155° 

What will be the angle between the hands of clock at 7:10 ? 

155° 

53. am_ H$s Am ẁ í`m_ H$s Am ẁ go XmoJwZr Am¡a gmohZ H$s Am ẁ go AmYr h¡, í`m_ _mohZ go ~‹S>m h¡ & g~go ~‹S>m H$m¡Z h¡ ? 

gmohZ   

The age of Ram is twice the age of Shyam and half the age of Sohan, Shyam is elder than 

Mohan. Who is the eldest ? 

Sohan 
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54. {ZåZ{b{IV _| go gd©Wm {^Þ kmV H$s{OE & 

A§Jya  

Find the odd one from the following. 

Grapes 

55. {dZ` h§{gH$m go b§~m h¡, h§{gH$m A^` go b§~r h¡, AmbmoH$ AemoH$ go b§~m h¡ Am¡a AemoH$ {dZ` go b§~m h¡ & g_yh 
_| g~go N>moQ>m H$m¡Z h¡ ? 

A^` 

Vinay is taller than Hansika, Hansika is taller than Abhay, Aalok is taller than Ashok and 

Ashok is taller than Vinay. Who is the shortest in the group ? 

Abhay 

56. 2025 qd~bS>Z Q>o{Zg M¢{n`Z{en _| _{hbm EH$b H$m {IVm~ {H$gZo OrVm ? 
BJm pñd`mQ>oH$  

Who won the women’s singles title at the 2025 Wimbledon Tennis Championships ? 

Iga Swiatek 

57. {H$g ^maVr` eha Zo ^maV H$m nhbm à_m{UV J«rZ å`w{Z{gnb ~m°ÝS> Omar {H$`m h¡ ? 
Jm{O`m~mX  

Which Indian city has issued India’s first Certified Green Municipal Bond ? 

Ghaziabad 

58. N>Ro> {~ågQ>oH$ (~o Am°\$ ~§Jmb B{Z{eE{Q>d \$m°a _pëQ>-goŠQ>moab Q>opŠZH$b EÊS> BH$m°Zm°{_H$ H$mo-Am°naoeZ) {eIa gå_obZ 
H$m _oO~mZ H$m¡Z-gm Xoe h¡ ? 
WmB©b¢S>   

Which country is the host of 6th BIMSTEC (Bay of Bengal Initiative for Multi-Sectoral Technical 

and Economic Co-operation) Summit ? 

Thailand 

59. {ZåZ{b{IV _| go {H$g ì`pŠV H$mo hm°H$s Ho$ {bE {Z`{_V loUr _| 2024 H$m ÐmoUmMm`© nwañH$ma {_bm ? 
g§Xrn gm§JdmZ  

Which of the following person received the Dronacharya Award 2024 in the Regular Category 

for Hockey ? 

Sandeep Sangwan 

60. amîQ´>r` ~m{bH$m {Xdg 2025 {ZåZ{b{IV _| go {H$g {V{W H$mo _Zm`m OmVm h¡ ? 
 24 OZdar  

National Girl Child Day 2025 is observed on which of the following date ? 

24th January 
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61. 30 - 31 OZdar, 2025 H$mo “gwemgZ” na amîQ´>r` gå_obZ H$hm± Am`mo{OV {H$`m J`m Wm ?  
Jm§YrZJa, JwOamV  

Where was the National Conference on “Good Governance” held on January  

30 - 31, 2025 ? 

Gandhinagar, Gujarat  

62. 1 OZdar, 2025 H$mo JwOamV gaH$ma Zo ~ZmgH$m§R>m {Obo go AbJ H$aHo$ {H$g ZE {Obo H$s KmofUm H$s ? 
dmd-WamX  

On January 1, 2025 which new district was announced by the Gujarat government, carved out 

of Banaskantha district ? 

Vav-Tharad 

63. 16 OZdar, 2025 H$mo n§Om~ ZoeZb ~¢H$ Ho$ à~§Y {ZXoeH$ Am¡a _w»` H$m`©H$mar A{YH$mar Ho$ ê$n _| {H$gZo nX^ma 
J«hU {H$`m ? 
AemoH$ M§Ð  

Who assumed charge as the Managing Director and Chief Executive Officer of Punjab National 

Bank on January 16, 2025 ? 

Ashok Chandra 

64. 2024 d¡{œH$ Ob {ZJamZr [anmoQ>© V¡`ma H$aZo H$m ZoV¥Ëd {H$g {dœ{dÚmb` Zo {H$`m ? 
X Am°ñQ´>o{b`mB© amîQ´>r` {dœ{dÚmb`  

Which University led the preparation of the 2024 Global Water Monitor Report ? 

The Australian National University 

65. 20 {Xg§~a, 2024 H$mo ^maV gaH$ma Zo h[aV Am¡a {Q>H$mD$ ~w{Z`mXr T>m±Mm n[a`moOZmAm| Ho$ g_W©Z hoVw {H$g A§Vam©îQ´>r` 
g§JR>Z Ho$ gmW 500 {_{b`Z S>m°ba Ho$ F$U g_Pm¡Vo na hñVmja {H$E ? 

E{e`mB© {dH$mg ~¢H$ (ADB) 

On December 20, 2024 the Government of India signed a $500 million loan agreement with 

which international organization to support green and sustainable infrastructure projects ? 

Asian Development Bank (ADB) 

66. ^maV H$m _mg© Am°{~©Q>a {_eZ (MOM) H$~ àjo{nV {H$`m J`m Wm ? 
2013  
India’s Mars Orbiter Mission (MOM) was launched in 

2013 

67. A§Vam©îQ´>r` ~mK {Xdg H$~ _Zm`m OmVm h¡ ? 

 29 OwbmB©  

International Tiger Day is observed on 

July 29 
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68. AJwAm‹S>m {H$bm {H$g amÁ` _| pñWV h¡ ? 

Jmodm 

Aguada Fort is located in which State ? 

Goa 

69. _wŠHo$~mµOr _| Iob Ho$ _¡XmZ H$mo Š`m H$hVo h¢ ? 

[a¨J  

The playing area in boxing is called 

Ring 

70. _§Ìr Ûmam àñVm{dV {dYo`H$ H$mo Š`m H$hm OmVm h¡ ? 

gaH$mar {dYo`H$  

A bill proposed by a minister is called as 

Government bill 

71. Zm°d} H$s amOYmZr h¡ 

Amoñbmo  

The capital of Norway is  

Oslo 

72. nhbm X{jU E{e`mB© Iob {H$g Xoe _| Am`mo{OV {H$`m J`m Wm ? 

Zonmb  

The first South Asian Games held in which country ? 

Nepal 

73. noQ´>mo{b`_ {Z`m©VH$ Xoem| Ho$ g§JR>Z (OPEC) H$m _w»`mb` H$hm± pñWV h¡ ? 

{d`Zm  

The Organization of Petroleum Exporting Countries (OPEC) is headquartered in  

Vienna 

74. nwVwb ZmM {H$g ^maVr` amÁ` H$m H$R>nwVbr ZmQ>ç ê$n h¡ ? 
npíM_ ~§Jmb 

Putul Nach is a puppet form of which Indian State ? 

West Bengal 

75. H$mH$amnma na_mUw D$Om© ñQ>oeZ {H$g amÁ` _| pñWV h¡ ? 
JwOamV  

Kakrapar Atomic Power Station is located in which State ? 

Gujarat 
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{ZX}e (à. g§. 76 go à. g§. 80) : J«mµ\$ H$m AÜ``Z H$a| Am¡a ZrMo {XE JE àíZm| Ho$ CÎma X| & ~ma J«mµ\$ 2011 go 
2016 VH$ EH$ H§$nZr H$s Am` Am¡a ì`` H$mo Xem©Vm h¡ (H$amo‹S> é. _|) & 

Direction (Q. No. 76 to Q. No. 80) : Study the graph and answer the questions given below. 

The bar graph shows the income and expenditure of a company from 2011 to 2016  

(in crore Rs.). 

 

 

 

76. H§$nZr Ûmam 2013 go 2015 VH$ Hw$b {H$VZm bm^  (H$amo‹S> én`o _|) A{O©V H$s JB© ? 
50  
What is the overall profit (in crore Rs.) is earned by the company from 2013 to 2015 ? 

50 

77. {XE JE dfm] _| {df_ dfm] _| H§$nZr Ûmam A{O©V bm^ (H$amo‹S> én`o _|) Š`m h¡ ? 
116.66   
What is the average profit (in crore Rs.) earned by the company in odd years among the given 

years ? 

116.66 

78. H§$nZr Ûmam 2016 _| A{O©V bm^, H§$nZr Ûmam 2015 _| A{O©V bm^ go {H$VZo à{VeV A{YH$ h¡ ? 
100%  
The profit earned by the company in 2016 is what percentage more than profit earned by the 

company in 2015 ? 

100% 
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79. `{X 2016 H$s VwbZm _| 2017 _| H§$nZr H$m bm^ 25% ~‹T>m Am¡a Am` 20% ~‹T>r, Vmo 2017 _| H§$nZr H$m ì`` 
(H$amo‹S> é. _|) Š`m h¡ ?  
475  
If the profit of the company increased by 25% and income increased by 20% in 2017 than 

2016, what is the expenditure (in crore Rs.) of the company in 2017 ? 

475 

80. 2011 go 2013 VH$ Hw$b Am` 2013 go 2015 VH$ Hw$b ì`` go {H$VZo à{VeV H$_ h¡ ? 

 

By what percent total income from 2011 to 2013 is less than total expenditure from 2013 to 

2015 ? 

 

 

{ZX}e (à. g§. 81 go  à. g§. 85) : ZrMo {X`m J`m ~ma J«m\$ nm§M dfm] 2021, 2022, 2023, 2024 Am¡a 2025 _| 
{g{Q> _¡amWZ _| nwéf Am¡a _{hbm à{V^m{J`m§o H$s g§»`m Xem©Vm h¡ & 

Direction (Q. No. 81 to Q. No. 85) : The bar graph given below shows the number of male and 

female participants in City Marathon in five years 2021, 2022, 2023, 2024 and 2025. 

 

81. 2022, 2023, 2024 _| _¡amWZ _| ^mJ boZo dmbo nwéfm| H$s Am¡gV g§»`m H$m 2021, 2022 Am¡a 2023 _| ^mJ boZo 
dmbr _{hbmAm| H$s Am¡gV g§»`m go AZwnmV kmV H$s{OE & 
41 : 28   
Find the ratio of average number of males participated in marathon in 2022, 2023, 2024 to 

average number of female participated in 2021, 2022 and 2023. 

41 : 28 
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82. {H$g df© A{YH$V_ bmoJm| Zo _¡amWZ _| ^mJ {b`m ? 

2023  

In which year maximum people participated in marathon ? 

2023 

83. 2026 _| _¡amWZ _| ^mJ boZo dmbo Hw$b bmoJm| H$s g§»`m kmV H$s{OE, `{X 2024 Am¡a 2025 _| ^mJ boZo dmbo 
Am¡gV bmoJm| H$s VwbZm _| 2026 _| Hw$b à{V^m{J`m| H$s g§»`m _| 25% H$s d¥{Õ hþB© & 

3875 

Find the total number of participants in marathon in 2026, if the total participants increased by 

25% in 2026 over the average of participants in 2024 and 2025.  

3875 

84. _¡amWZ _| ^mJ boZo dmbo Am¡gV nwéf à{V^m{J`m| Am¡a _¡amWZ _| ^mJ boZo dmbr Am¡gV _{hbm à{V^m{J`m| Ho$ ~rM 
Š`m A§Va h¡ ? 
550   

What is the difference between average male participants in marathon and average female 

participants in marathon ? 

550 

85. 2021 _| _¡amWZ _| ^mJ boZo dmbr _{hbm à{V^m{J`m| Ho$ à{VeV Am¡a 2023 _| _¡amWZ _| ^mJ boZo dmbo nwéf 
à{V^m{J`m| Ho$ à{VeV Ho$ ~rM Š`m A§Va h¡ ? (bJ^J _mZ kmV H$s{OE)   
7.6%  

What is the difference between the percentage of female participants in marathon in 2021 and 

percentage of male participants in marathon in 2023 ? (Find approx. value) 

7.6% 

 
ZX}e (à. g§. 86 go à. g§. 90) : ZrMo Xr JB© Vm{bH$m EH$ K§Q>o _| 6 BH$mB`m| P, Q, R, S, T Am¡a U Ûmam eQ>© H§$nZr 
Ho$ CËnmXZ H$mo Xem©Vr h¡ & Vm{bH$m XoI| Am¡a ZrMo {XE JE àíZm| Ho$ CÎma X| & 
 

CËnmXZ BH$mB© Hw$b eQ>© H$mbo : g\o$X 

P 5225 10 : 9 

Q 3150 9 : 5 

R 5625 7 : 8 

S 3825 4 : 13 

T 4875 4 : 9 

U 4950 11 : 7 

 

ZmoQ> : `o BH$mB`m± Ho$db Xmo a§Jm| AWm©V² H$mbo Am¡a g\o$X _| eQ>© ~ZmVr h¢ & 

Direction (Q. No. 86 to Q. No. 90) : The table given below shows production of Shirt  
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Company by 6 units P, Q, R, S, T and U in one hour. Refer the table and answer the questions 

given below. 

Production 

 Unit 

Total Shirts 

 

Black : White 

 

P 5225 10 : 9 

Q 3150 9 : 5 

R 5625 7 : 8 

S 3825 4 : 13 

T 4875 4 : 9 

U 4950 11 : 7 

Note : These units produce shirts in only two colors i.e. Black and White. 

86. {H$g BH$mB© Ho$ {bE H$mbo eQ>© Am¡a g\o$X eQ>© H$s g§»`m Ho$ ~rM H$m A§Va A{YH$V_ h¡ ? 
S  
For which unit the difference between number of black shirts and white shirts is maximum ? 

S 

87. BH$mB© Q, R Am¡a S _| CËnm{XV H$mbo eQ>m] H$s Am¡gV g§»`m Š`m h¡ ? 

1850   
What is the average number of black shirts produced in unit Q, R and S ? 

1850 

88. BH$mB© U _| CËnm{XV g\o$X eQ>m] H$s g§»`m BH$mB© P _| CËnm{XV H$mbo eQ>m] H$s g§»`m go {H$VZo à{VeV H$_ h¡ ? 
30%     

The number of white shirts produced in unit U is how much percent less than the number of 

black shirts produced in unit P ? 

30% 

89. BH$mB© S Am¡a T Ûmam CËnm{XV H$mbo eQ>m] H$s g§»`m BH$mB© S Am¡a T Ûmam CËnm{XV eQ>m] H$s Hw$b g§»`m H$m {H$VZm 
à{VeV h¡ ?  
800/29%  
The number of black shirts produced by units S and T together is what percent of total number 

of shirts produced by units S and T together ? 

800/29% 

90. BH$mB`m| Q Am¡a U Ûmam CËnm{XV H$mbo eQ>m] H$s g§»`m H$m BH$mB`m| P Am¡a Q Ûmam CËnm{XV gµ\o$X eQ>m] H$s g§»`m go 
AZwnmV Š`m h¡ ? 
101 : 72  
What is the ratio of number of black shirts produced by units Q and U together to the number 

of white shirts produced by units P and Q together ? 

101 : 72 
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{ZX}e (à. g§. 91 go à. g§. 95) : {ZåZ{b{IV OmZH$mar H$mo Ü`mZ go n‹T>| Am¡a àíZm| Ho$ CÎma X| & 

ZrMo {XE JE n¡amJ«m\$ _| VrZ AbJ-AbJ {XZm| `mZr gmo_dma, _§Jbdma Am¡a ~wYdma H$mo {Z{_©V ~¢JZr, hao Am¡a J«o 
a§J Ho$ Jwã~mam| H$s Hw$b g§»`m {XImB© JB© h¡ & 

gmo_dma : {Z{_©V ~¢JZr go hao a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H$m AZwnmV 3 : 4 h¡ Am¡a {Z{_©V ~¢JZr go J«o a§J Ho$ 
Jwã~mam| H$s Hw$b g§»`m H$m AZwnmV 3 : 2 h¡ Am¡a {Z{_©V ~¢JZr, hao Am¡a J«o a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H$m `moJ 
450 h¡ & 

_§Jbdma : {Z{_©V ~¢JZr a§J Ho$ Jwã~mam| H$s Hw$b g§»`m {Z{_©V J«o a§J Ho$ Jwã~mam| H$s Hw$b g§»`m go 37.5% A{YH$ h¡ 
Am¡a {Z{_©V hao go J«o a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H$m AZwnmV 9 : 8 h¡ & {Z{_©V ~¢JZr a§J Ho$ Jwã~mam| H$s Hw$b g§»`m 
{Z{_©V hao a§J Ho$ Jwã~mam| H$s Hw$b g§»`m go 40 A{YH$ h¡ & 

~wYdma : {Z{_©V ~¢JZr a§J Ho$ Jwã~mam| H$s Hw$b g§»`m {Z{_©V hao a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H$m 5/11dm± ^mJ h¡ 
VWm {Z{_©V ~¢JZr Am¡a J«o a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H«$_e: 150 Am¡a 240 h¡ & 

Direction (Q. No. 91 to Q. No. 95) : Read the following information carefully and answer the 

questions. 

The given below paragraphs shows the total number of purple, green and grey colour balloons 

manufactured on three different days i.e. Monday, Tuesday and Wednesday. 
Monday : The ratio of the total number of purple to green colour balloons manufactured is 3 : 4 

and the ratio of the total number of purple to grey colour balloons manufactured is 3 : 2 and 

the sum of the total number of purple, green and grey colour balloons manufactured is 450. 

Tuesday : The total number of purple colour balloons manufactured is 37.5% more than the 

total number of grey colour balloons manufactured and the ratio of the total number of green 

to grey colour balloons manufactured is 9 : 8. The total number of purple colour balloons 

manufactured is 40 more than the total number of green colour balloons manufactured. 
Wednesday : The total number of purple colour balloons manufactured is 5/11th of the total 

number of green colour balloons manufactured and the total number of purple and grey colour 

balloons manufactured is 150 and 240 respectively. 

91. ~wYdma H$mo {Z{_©V hao a§J Ho$ Jwã~mam| H$s Hw$b g§»`m H$m gmo_dma H$mo {Z{_©V ~¢JZr a§J Ho$ Jwã~mam| H$s Hw$b g§»`m go 
AZwnmV kmV H$s{OE & 
11 : 5 

Find the ratio of the total number of green colour balloons manufactured on Wednesday to the 

total number of purple colour balloons manufactured on Monday. 

11 : 5 

92. ~wYdma H$mo {Z{_©V Hw$b J«o a§J Ho$ Jwã~mam| H$s g§»`m gmo_dma H$mo {Z{_©V Hw$b hao Am¡a J«o a§J Ho$ Jwã~mam| H$s g§»`m H$m 
{H$VZm à{VeV h¡ ? 
80%   

The total number of grey colour balloons manufactured on Wednesday is what percentage of 

the total number of green and grey colour balloons manufactured on Monday ? 

80% 
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93. _§Jbdma H$mo {Z{_©V Hw$b Jwã~mam| H$s g§»`m Am¡a gmo_dma H$mo {Z{_©V Hw$b J«o a§J Ho$ Jwã~mam| H$s g§»`m Ho$ ~rM A§Va kmV 
H$s{OE & 
460  
Find the difference between the total number of balloons manufactured on Tuesday and the 

total number of grey colour balloons manufactured on Monday. 

460 

94. `{X Jwédma H$mo {Z{_©V Hw$b Jwã~mam| H$s g§»`m ~wYdma H$s g§»`m go 25% H$_ h¡ Am¡a Jwédma H$mo {Z{_©V Hw$b ~¢JZr, 
hao Am¡a J«o a§J Ho$ Jwã~mam| H$s g§»`m H$m AZwnmV H«$_e: 4 : 3 : 2 h¡, Vmo Jwédma H$mo {Z{_©V Hw$b ~¢JZr a§J Ho$ Jwã~mam| 
H$s g§»`m kmV H$s{OE & 
240   

If the total number of balloons manufactured on Thursday is 25% less than that of on 

Wednesday and the ratio of the total number of purple, green and grey colour balloons 

manufactured on Thursday is 4 : 3 : 2 respectively, then find the total number of purple colour 

balloons manufactured on Thursday. 

240 

95. gmo_dma, _§Jbdma Am¡a ~wYdma H$mo EH$ gmW {Z{_©V J«o a§J Ho$ Jwã~mam| H$s AZw_m{ZV Am¡gV g§»`m kmV H$s{OE & 
167   
Find the approximate average number of grey colour balloons manufactured on Monday, 

Tuesday and Wednesday together. 

167 

96. Choose the right answer from the five options given below to frame meaningful sentence. 

the/steps/old/man/fell/the/down  

The old man fell down the steps. 

97. Choose the opposite word (antonym) to the given word.  

Remote 

Near 

98. Fill in the blank with the correct option. 

My brother ______________ very hard at the moment, because some of his colleagues are 

off sick. 

is working 

 Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the 

questions by choosing the right option. 

The Journey of a River 

 Rivers begin their journey high in the mountains, where melting snow or rainwater gathers to 

form small streams. These streams flow downhill, joining with others to become larger rivers. 

As the river travels, it shapes the land around it, carving valleys and creating habitats for 

many plants and animals. 

 Along the way, rivers provide water for people, animals and crops. Towns and cities often 

develop near rivers because they offer a reliable water source and an easy way to transport 

goods. However, rivers can also flood, especially after heavy rains, which can damage 

homes and farms. 
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Many rivers eventually flow into oceans or seas, completing their long journey. To protect 

rivers, people must avoid polluting them with waste and chemicals. Keeping rivers clean helps 

ensure they continue to support life and benefit future generations. 

99. What happens when many small streams come together ? 

They form a larger river  

100. How can people help protect rivers ? 

Avoid polluting them 

 


